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from typing import *

def tourment (p: int, g: int, size: int, array: List[List[int]]) —>

None:

# MHEMERT 4 B, WA EAUERSA A KRE
if size > 3:
tourment (p, g, size // 2, array)

tourment (p, g + size // 2, size // 2, array)

# K 45 R ) B RE R BT F B
for 1 in range(p + size // 2, p + size):
for j in range(q, g + size // 2):
= arrayl[i — size // 2]1[] + size // 2]

array([i] []
for j in range

]
(q + size // 2, g + size):
]

array[i1][j] = arrayl[i - size // 2][] — size // 2]

def print matrix(matrix: List[List[int]]) —> None:
print ('[")
for i in matrix:
print (i)
print('1")

def solve(k: int) —> List[List[int]]:
n =2 ** k

result = []

for j in range(n):

result.append([i + 1 for i in range(n)])
tourment (0, 0, n, result)
print matrix(result)

return result

if name == ' main ':

solve (3)
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1 |PS C:\Users\namel\Desktop> python .\t.py
2 | [

s | [1, 2, 3, 4, 5, 6, 7, 8]
a|[2, 1, 4, 3, 6, 5, 8, 7]
s | [3, 4, 1, 2, 7, 8, 5, 6]
¢ |[4, 3, 2, 1, 8, 7, 6, 5]
7105 6, 7, 8, 1, 2, 3, 4]
s | [6, 5, 8, 7, 2, 1, 4, 3]
s | [7, 8, 5, 6, 3, 4, 1, 2]
0 |[8, 7, 6, 5, 4, 3, 2, 1]
1]
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s |from math import log2

a1 |def solve 1(n: int) —> List[List[int]]:

4 result = solve(log2(n) + 1)
43 do remove virtual (result)
44 return result
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from typing import *

def tourment (size: int, result: List[List[int]]) —> None:
if size ==
result[l][1l] =1
elif size % 2 != 0:
tourment (size + 1, result)
else:

tourment (size // 2, result)

copy(size, result)

def copy(size: int, result: List[List[int]]) —> None:
if size > 2 and (size // 2) % 2 != 0:
cp odd(size, result)
else:

cp_even(size, result)

def cp even(size: int, result: List[List[int]]) —> None:
mid = size // 2
for i in range(l, mid + 1):
for j in range(l, mid + 1):
result[i] [jJ + mid] = result[i][j] + mid
result[i + mid][]j] = result[i][] + mid]

result[i + mid][J + mid] = result[i][]j]

def cp odd(size: int, result: List[List[int]]) —> None:
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temp = [0 for 1in range(size + 1)]

mid = size // 2

for i in range(l, mid + 1):
temp[i] = mid + 1

temp[mid + i] = temp[i]

for i in range(l, mid + 1):
for 7 in range(l, mid + 2):
if result[i][j] > mid:
result[i] [J] = temp[i]
result[mid + i][]j] = (temp[i] + mid) % size
else:

result[mid + i][]j] = result[i][]j] + mid

for j in range (2, mid + 1):
result[i] [j + mid] = temp[i + J — 1]
result[temp[i + § — 1]]1[j + mid] = i

def print matrix (matrix: List[List[int]]) —> None:
print ('[')
for i in matrix:
print (i)
print(']")

def strip(size: int, matrix: List[List[int]]) —> List[List[int]]:
result = []
for i in range(l, size + 1):
tmp = []

for 7 in range(l, size + 1 if size % == (0 else size + 2):

tmp.append (matrix[i] [j] 1f matrix[i] []j] <= size else 0)

result.append (tmp)

return result

(9]




114 |def solve(n: int) —> List[List[int]]:
115 result = []
116
117 for 7 in range(n + 2):
118 result.append ([0 for in range(n + 2)])
119 tourment (n, result)
120 result = strip(n, result)
121 print matrix(result)
122
123
12¢ |[if name == "' main ':
125 solve (6)
BATHERINT

126 |PS C:\Users\namel\Desktop> python .\fft.py

127 | [

e | [1, 2, 3, 4, 5, 6]
2 | [2, 1, 5, 3, 6, 4]
0 | [3, 6, 1, 2, 4, 5]
1 | [4, 5, 6, 1, 3, 2]
2 | [5, 4, 2, 6, 1, 3]
s |16, 3, 4, 5, 2, 1]

134 | ]
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